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LOT NOI DAU

“WiuFng han nhoe kha cherd thareagy rdt suvgt verd, afungy néu chia
Fein mhae theinh g phan doen gaen 8 di & ahdg o g mdi hoe dedn
il e e chm ilurere,

Tadn hoe cdng aler vy, ™

{3 s Shermoan K. Stemn

B4 sich B daie Tai mdiry Todin hpedd chroc phi hien ring rii
i:rn]'Li-El.lr.pi.':r:E'inl'h'i'ian'lg i tmmg

* {}n]dé'hd:u'lg. liém hé todn hoc van cic sy kién hdng ngay;

= Bardi cam i phinctap ciacic bai todn grip B diy kG mdng
fir luny va i g freme iy sing o
Khuyén khich sir chmg nhid phiemg phap gisi sain khic
nthan, kich thich ki tar chry i1 pha.
Cung cap kién #wrc ik tadn chra trén nhimg urdmg dan i
irimh hdy haa qudl.

Cud sdch hao gdm nhimg i 13 di dugctéi sirdung trong nhidy
ndm giang day. D aic hdi tdn déu thudcdang bai thi Olymgnc Todn hoc,
samg %1 mhan thay 51 G cic hoc sinh déu thu dugre nhidu kri ich khi luvén
ap duimg. Tromg viéc hoc todn dang nay, vige ba sumg vd Bm nhimg hdi
tip ndng cao cimg wri tinh thin vd niém sy mé ain quan trong e ndng
hre him sinh.

Ral nhiéu hoc sinh ma 16i dmg din, tham chi ca cha me cic em
ciing dé bi thu hin beri nhimg k#én g chrgre g ghidu trang bé sich nay.
Hy vang ring han vd com ban cling %8 of niém ssy mé ninr vay!
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Toong sode Boc, ob nhide gay lult kbdc shaw: més sb seong 8 & bade v mde =
libdic phaie dap bom Dho & pad sey el e o vl e boad &2 den ma Bip ds
Kby bod e vide abeden bry bt s bamg o By sd sheo gay el vide dp deeg
phdp mbiin, phedp chiin bay ddm cbd 5o deng ca bai ki sding 55 boc cdeg od ded gilp
kb mromg vide gad todm

Toong ddy 56 Fibenaccl 50 hang thad ba cua diy b deo quy lol bisg sheg oia
sib bamgy bl nb i v 50 bong sl bai; s Bom g el s bl ideg coa s baeg dob bai
vil wd ba; = hang 1k i Bing sleg oan s& hang e ba v st e, v ol edp mae
phan et W b chile, kd i som = bong dhe ode bai 50 mdi 50 baeg 1d sdeg oia
Bsai b Bz B machc mad

B che s odm dida moeg div =5 s
i) 4, T, 10, 13, k. 3
Plide sl Hida om bai 58 bong Bls b shos woeg &y s odn B 3, ede s
Barg tidp ahes phai k- 13+ 3= 14

thy X & X, 3, | =g
Piide siede DAY sdedy thal vi bom iy =d & cla {a). 54 bang 1had bai bon s
Barg el edln 4 dom vi Sowdd, hite on bai =0 baeg 1idn kd 58
g dden 3
44wk

h+4+ =01

1t 4+4 43243 =30
Do @b, 5 bong vidp oo l:20+4+2+24+2= 38

9 L & 1%, | _—
Plin s Trosg diiy sd mén, dede ihd tien daoc bide sb g bl cdbo sb
lids edp mdo. Hide cim s bamg thal mbie vd 0 hang dwl bai i 4
Hida cum 58 hong dodbai v s5 baeg ibal ba K 12 Cran =l Bai
hids mdy stmbdn moring 12 gip ba B d Do @, 6 bang ol bai
ghp3 basd baeg dab nhis; sdbangtba ba gip 3 s dbangibbai,
vl ol el

b o e mnamee s, e are vorious pamares: somme ane re ooy el v serm ghtforeand amd
cbers are mor challeng g We, derelone, Bave 1o Sk omzide e box andbe
flexabde @ o search for aeswers.

P miche s a dddimgg, o b Emc rimg, dhe erens ma membe s pamem, app hving, ek gphicabon,
divismion or even dhe e of apy mo ondenaee Scills moy belp i ke solvimg of
e prodd ams

I Fibams ecl numbers. e dird fommn in te mem berpasann is te o o Tk firs
mnd secoed fermes; dhe fowm b domen 0% ke gam of e second ond therd weens; de

i g eren a5 8 B s e of § e dhind amed fosendh denos , omed 50 om. | essence, cackh teren,
after Sy firsd fwo werme, & (ke sem of e o pracedeg eme

-

EXAMPLES
1 -
Uoam e e each BASED S PuiSam
) 4, T, 10, 13, k
Awadvsbe The differmoe begwecn ony mno oohseom ve 2rms | Se obove
ma mber pasiens & 1, 0 @ peattonm mesibe 1343 ~ 16

f) L & §X, M, | k

Awalisle Thisismom Eeeresing dande menber pamas shown @ ) The
second weem isd mome Sanike fimione Thoemakor, the dil Taremee
heracen any iwo cofeecalive LEnms maesses by 1

T4+d =&
G444+ 2=
2+4 42 4+31=-30

The moxt emn ks, Sworeomp, M0 44 431434 3= 38

e} X & 1%, boo-
Anadveie lmibe above saoder pasias, B s dilficalt (o moke smse of d&e
di flemnee berseenany o ooese oo tive Bambers. T ke diflmence
berween e first ood second eome 5 4. The dilfoeone e boween
e secom d ond ibird fens & 12 (s enving, the oo differances
will reveal dar 13 is dee oowes of 4. Hepwedbe seoond tamm &
1 e gines e firs o e s o s dhree D s e sec ond
T @ 20 ON




i

g +Im3
IZ+a&=3
iEx3i=i4

5¢d basg oelp dheo 1d &4

T, M i S r F = - | b

Piide siede DAY sb ordm s deng bai kY ning tnbrode: phdp chiia v plwlp i
5 bang i mddin chin cho 3 v s bong ik bai i di 3

dd + 3= IR Ho¥=30
M+i=10 10-3=K
E+2=4 d-2=2

Hai sd bang tidp theo 1in boot ld 4 vd 2

L% 3, 3. % 13, ¢ ko b 33, 1,

Analdisie Ky s min W mwds v de o diy Fiboeacc

13 +8 =20
H4+1i=14

Hai5d bang s logr 1 20 vd 34

G+2=3
£+ &=
TEERET!

e mexan ferm s 54

W) 44, ¥ o 16, & ¢ | S I

Asaliabe The abowv e mamib o pat e wwes fvoansme e sioilk -d nsiomand

sabmraciion. The fist enm s divided by 3 ood 1be second temm &
sabmraaed by 1

dd + 2= 30

M+1=10
i+3=4d

Tr-i=00
iG=imi
4 F=k

The mean o emms am 4 and 2 respeaive by

e b, X 3% & @44 | b 33, 29

salrsie This penber paserns & @ exam ple of Flbonocci menbers

13 +%=2%1
2 +13=ad

The wio ierme are 21 and 34 nespecnvely.




l . o
e 5 dheo quy bale saw: Complaie each mamber pmsem below

(13 i i, R {af 1. 1.
(I} 1, b} 1. I,
izl - €]
) 2 - i
i€} . : ! i€

if , ; , i

i 1. L , , il | [ 13,

A, drd do s lags ciom 34 01 Ak, thee wglead wick of O
Crann wie quy bude vil dide ch o cieh dim g vio die Bgole don Obcerve the pasern amd wrRe e coored afswers B de backess provided

I = 9= 59 o= 9= 1539
1M = B = FEEG 3l = 2= ITHEG
411 # 9 = 1¥ @9 413 = 9= 34 &9
LAy = 9= M3 = 9=
B 330 = 9 = | i 33 = 9 =
Thi4 1M = 9 = TEAL1ME = 9 = |
Ef add 33 = 9 = | Ef &84 335 = W=

GET A4 13 = 9 = SET B30 = 9 =




Hoxde sy e gide Pascal vd dids el chel ddeg vio die egode don Complae e Fascal Triamgle and wirse fhe comect arswers @ S bmekes
proveded.

i I

{ I

Sy ki dlidee emw e wledlm vl T A1Y Themanva of maliplcaton of 101F
Craam s gy kel vl dide ol w chel diln g vido dlie egoic dom (e rve e pamern ond wrne S cormed arswvers m e bmokes provided

100 = 11 = 1 ol = 116l

ol FEm FYFY 1ol e Jp.r

LLeg i3 3333 ol

10l 1ol

L] | 1ol

bLeR ol

LLed ol

101 1ol

LLeR il




Tien s cde thid thoo quy lalt cvm @iy 58 soa Wihat ame the missig s ors i dhe nomber pamerss belon?

H] A 24 25 M Al 24 28 25




Bride vio chd wrdeg cle chillsdmd 1 Bn 9. MG ki s chi daoe s dung
médi lin 54 o phda bdm irdi el 18 cbeg thim 12 = dage 54 o phia

e pliai

[] = []e [ ] = a
i [T T % [ il

Pridm vio chd wrlag che chasded 1| ddmn 9 Mbichar sd dha duoe s deng
el Lim 56 o phila bée min mmdi e s vod 4 ol cdeg thedm A 5t duoe =b
O plvia bl plsan

BEE [ = e[]
5—.|-.E|:| |:||:|—r':.|'|' ]|:|—.rl.‘||:|

Pride vio dad mdag cle chd =d o 1 dde 9. M 2 chi daoc su dusg
méa 1hn 54 0 pha beém e i sdem chia cho 2 rdd end i 1 sédaoc =8 0 phda

Eim il

EERCHES EEE Y
. — ]D JD —= X Dlﬁ — -ID
Fridm vio cbd wdeg che chir 54 ol 1 ddn 9 M0 = chd daoe sw deng

endd Lim 56 o phidabén i mmdn sl sldin wai 2 ef cdeg thden 3 5 Baoe =b
i pluia bdm plai

] =53] []J-=3 [F-=1[]
[]7 = s[] 1] = s[]

Filll i each blaek ik digis from [ o9 Foch digitmay be esed onl v once
Ther meamn berr om g de 5 bamd-sid e o Fike orow & added w0 12 00 reach de
mam beron She right-band-side

]|:|—‘|-|:|ﬂ 3|:|—:|-41
O-10 Od- = O - 50O

Filll m cnch blask widk digiss from 1 o9 Each digitmoy be wmed onl yomoe
The mamber om e lefi-bond-sde of e mrow & mvalopled by 4 before
odding 4 fo reach e s ber omn de nig b band-sid e

[] - =[] ] = s[]
s 32[] [J=w i ] = s ]

Fill & cack blask widh digits from § a9 Each digidmay be wsedomd v omee
The megnber on ke kei-band-side of & amow & dndded by 2 before
sabdracting 1 from ® (o rench e nmmber on e 6ght-band- < ide

[ =% [] L] =]
w1 ] i[] = 2= [[J6 = &[]

Fill im cach blonk wid digits om 1o 9 Each digitmay be wedonl v onoe
The mamber om e keit-hond-gde of @e mrow & maliplied by 3 before
oddieg 3 oo reads s maenber omn de rig be-hand-zid e

[ ] = 3[] 1[]J=3 [F =[]
= 0 - 50




Em cd ok @in 33 gua bdeg wilo

el chide bip saw mo cho Weg
s bt g o en i Bz b g mdham dage

kb g

Tien = by e ghm oo iy =

L % 5 0% A 33

Tien = Bosg sl g oo By =4

| 4, il ric T, £ T v ] R |

Tim = hosg dw =hu cin diy sb

1, 4, 9, 14, X boood9, ad

Thm = bomg del bay v Sal thm ol diy
1, & 4, L 1L I,
Tien = By gl bay vl el ghen o iy
r o4 K M, X 3x | b
Tim = hong dw sha, sl bay v shalr i o diiy

4, ¥,

Tim = hong e bay vd s thm o diy

L3, & % 14 1% | I

i

Can vou pat 32 balls m the bones
w2 v s e e e el v by
of ballk m every hee?

Find the & iemmn of $he s agaomce
3 k9 13 B, 33 4% |
Fied the &% e of She sagaomce
4, 11, 1%, T, 1, A,

Fimd nke sonth serm of dhe segeno:
1, W, I&, M ¢ ko449, =
Fipd the sevensh ond cighth fams of de segemee

4, T, N, & | S
Fimsd nhe v emth nnd eoghb tams of e seqaemce

o &y M, E, 3| | S|

Fimd ke sk, sevens ond @ ghah weemns of 1he segacmce.

ER 4, 9, 10, 11, | I
Fimd the seventh ond eaghsh fonm s of @ srgqemee

I, 4 & % 14 IX | | IR 1




13 DAysdmdoso By kbde bidovdiche diy odm lat? 12 Which ol the folkwing sequences & diffarend from &e nest?
&} . . A = : i} I,
i}
i<l

<y

Bridm s oo i de sz gy el o iy = sam: Firad ther onits sty b o im enc b pamber pasiemn

{a) {a)




